2015 INIT BB wiEe SR gl

2015 International Mathematics Contest (Taiwan)
B =ikiE #E
X EMNEREELES L

1 1 2 1 5 9

1. PI lculate =+==7 A) — B) — C) — D) —

( D) ease calculate 2+7 ()9 ()14 ()12 ()14
_ 1 7 2_3
T ST E 7714714 14

( B ) 2. Please calculate 1992 + 398 = ?
(A) 39989 (B) 39999 (C) 39899 (D) 40999

BEAT : [RTIV = 199 x 199 + 199 x 2 = 199 x (199 + 2) = (200 — 1) x (200 + 1)
= 200% — 1% = 40000 — 1 = 39999 > 3E(B) °

( B ) 3. Which of following formula is fault ?

(A) /900 =30 (B) 3%

(C) v/14400=120 (D) /0.000324 =0.018
BRAT - B5= : TAIRGLOEIBER <

o 17

( B )4 ASIECE> 2% 4BI/IDE - 4B =24 _R >

DE =8, R *BE=102R QIR CEEZ

DRARe (A)8 (B)5 (C)10 (D)12

BRMT 82 CE =x'x:(x+10)=8:24= x=5
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( B )5. BRHIAABCT » 24 =42" 2C =48 A FYB—EB=AF R A4BC

AL 2
(A) (B) G
P!
Al P H 48N
(©) J (D) i
80&.
) VArN
BRAfT : LB =180 — (42 +48) =90 - tHE(B)
( A )6 WBEB:B4RHRROFEILT X
ESAENIE 4 KU IHE—K i 5 y
RFEH » BISERFEIP R ~ & y \ 1 7
oJgERZDD <

(A) (y+z) > (x+y) (B) (x+z) > (y+z)
C) (x+y) >~ (x+2) (D) (y+z)~ (x+22)

BRAT cxz+xy+y2+yz=x(z+y)+y(y+2z)=(y+z)(x+y)

( A )7 BERCENESTHRE  FUKLSE 100 171E 1
s e o e e e 2 3 4

(C) 10002 (D) 12317 ,
BT : IR RIRE—1THRR BT R/TEZIFE > PFTLAE 99 1THIREZ—EE
=73 99% = (100 — 1)2 = 10000 — 200 + 1 = 9801

tNEE 100 1T D280EKRAE _BES 43 9801 + 2 = 9803
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( A )8. WEB T ABCD @ » AD/IBC * 4D =20 ° C

D
BC=30 4B =40 - Bl CD 20EE L ZABIRP » B
_ P
Bl4P =~ r
105 107 109 111
(A - (B) - C) - (D) -~
BEAT : R AP=x=PB =40 —x & PD ~ PC
" LR CDYIDE » ... PD=PC=PD’ = PC°
=202 +x2 = (40 — x)? + 30% = x = 10
(C o WEB BEEsARWESME  LHWE 8. 4

%E%%E—¥ELE@—%E%’TB@—@ e -

iR A RARAGEEEERSDFE LD ©
(A) 16m+16 (B) 8n1+8 (C) 8nu+16 (D) 16m+8
BB ¢ (42X ] +4x4x5)x2 =8+ 16 FHRD

( C )10. B—REMRNEHEEBLKE 40 27D
RIAMR—EBRSRIRIEE » FETBE
S8 BRAMNKE » BHRREXKE
80 A » WE * BEKRhBIZHND <

(A) 80 A7 (B) 70 XD

(C) 60 A7 (D) 50 A7
RAT : (40 + h)2 = h* + 807
1600 + 80h + 4° = h* 4+ 6400
.. 80h =4800° h =60 7D
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( C )11 BB BABAABCH  £4=90° 2 C=30°" & & E

B B 4% A4ABC IEEIFET QNeEs © 1S A4BC v
EAADBE 5285 » 8] ARE| D BHERESDE © ! \B)

(A) 30° (B) 60° (C) 300° (D) 330°
RHT : 2 B =180°—90° — 30° = 60° » .". 318 360° — 60° = 300°

( D )12. B ABCD® » AD/BC* AB=CD*E~F~M-NDBIR 4B ~ DC
AD ~BC P2 » AH 1 BC* FG/AB » BILATNIOEBHFD : (8B) MUiEf
MNCD : (&) PU2/ BEFG : () AABF: (T ) AAHC BB

BfEAH ABCD g)—2 <
() @

A P& BFE-S-R OB T OBFE-C-R-T
AT IKBEEEREE)  THERNS - B~ JTHNEEBIEEESRHH ABCD BiE
B)—¥ > MEPBFD » 4 MNCD B2 ABNM &5 » BEESR ~ TESR
PTLAEEES » L MNCD BVEITE A5 ABCD Efal—3

A

P N .~
QC/f/N/ \

H (&

]

P
=
-

( D )13 B BEmEHE » wHERLBGERE (IEH
2 ABCD) » NNDESE S - WRE L RERFBE L @
M xEh (ATEBIRL L) » DLARRES B AIALER
(—8,—-6) K CRHME <
(A (=1,-14) () (-1,-15) (C) (-3,-15) (D) (-2,-14)
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BT PHBq JHBER S

(

(

BENT : YEBE LAE » BF L CF

=21+ 42=21224+23=90°= 21 =13

B : 22 =14 X AB =BC

. AABE = NACF (ASA)

= C(0-8+6,0-6-8)=C(-2, —14)

( D )14. AABC® » 24> 2B 2« BEINAB/NR 120° > BITHOTEIERE <

(A) 4B &xf * AC =78 BC
(C) AC&E ' AB&M BC AB
BT 0 2 BEONE)R120°
= £LB>60°= 24> 2B>60°
= 2£C<60°=24>2£B>2+2C

. BC>AC> 4B

D )15 B—X ' BARBRETEBEGAN NEMEABECHIBIHR

P2358b - IRBOVISTIRES CXEEHEEEIHRMO <

(A) P2E53b (B) P5523b (C) d55E2q (D) dE2E5q

5 IHER £obHEWRI
BREs0EINIBFZERA - PTLAR dEJE5q

D )16. BEAABCH » £ B, C BIF/TIRRZII M » 4

B MVYEDE//BCXAB ~ AC 1D ~ E M ° A
AB=8-4C=7-BC=9'8IDE:BC2Z & &

f

Off

(@t

=2%4)? (A)11:13 (B)8:9 (C)7:8 (D)5:8
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BT -

(

BT -

(

BT -

(

A

C

C

DE = BD+ CE °

. NADEBER = AD + DE + AE = AD + BD + CE + AE = AB+ AC= 15
" NADE ~/N\ABC > .". NADE B : NABC[EBf =DE : BC

W DE:BC=15:24=5:8

)17. 3068 * ABCD /R1E/Sf2 » AP =7 BP =13 8] ABCD A.P 2D
NEERZ DB ° f ; '
(A) 288 (B) 576 (C) 240 (D) 480 pUARASERN]

A0=BO=x"O0P=x—-7"13% =22+ (x—=7)2>x=12

= AC=BD=2x12=24' ABCD B& = 24 x 24 +~ 2 = 288

) 18. WIBE  F4TIUER, ABCD b » BE// CI» BIBD T £ P
BAHEBLI=EH < 4 D
(A) 5 (B) 7 (C)8 (D) 9
B (6

AEAF -AEBC » AEAF -~ACDF
AEBC -ACDF * AIDH ~AICB
AIDH ~ABAH » AICB ~ABAH

AEBG ~ACIG * AFGH ~ACGB

) 19. ESEINERIBEERBNER - HAER—FE 4, ¢ _»p
B > W68 B4B=CD * BEBC=22R - &0
AD =6 RR ' BERRS AR ERAKEER 4L
R > &REERREE - KEBREER 5.2 AR » FREKALL
AZHDAR? (A)09 (B)1.2 (C)15 (D)1.8
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fEMT - W68 » fEBR/CD

hw EP S
5 =ap=3 M=25"XG0=52-2=32
h, Go 32 = : _ _ 15 AR

( C )20 0GB 'O -DRERL LHBECD=31

A
C
ﬁ’@=82}’ﬁ’@LLﬁéD°%ﬁ—?ﬁ¢ J L
D
B~

B ABEEASAS  EI8AE BROWE o~
BB LL I3 4B 1SISEVE7SRISE) - BITSEERRmLL A -
AESN=BIEACOD HLEEAE

(A) 018 (B) 118 (C) 218 (D) HE2E
AT - DRI 2
(1) oD _ 0B §—£=>x—ﬂ
CD 48 ~ 37 57" 73 _ S
oD 4B 8 5 15 ; 3
@ B=o=37:7* 7 ,
B x O 8 D

. 0B= PP  M=AmEL . 5218

( A )21 FUINDPRE—E  BIRESE 2 4 5 FEERHIRMBRIEN - BREEMRABRT
HEZD =

18 28 FE3HF F48H E58F
(A) 26 1 2 4 8 16

3 3 5 9 17
(B) 27 5 6 6 10 '
(©) 28 7 7 7 11

9 10 12 12
(D) 29 11 11 : :

17
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BEMT : 24+8+16=26

( A )22. —BIS%/IB 50 8 ' IREAEFDMHGERE » PTLIZENIZS 6 58 T
RIEEREET D » EENBEEIE 4 F8 > F TS OIS 25T » B4 AS

RE 30 A BEAZHTEEa AT b A HEE atb= =
(A) 28 (B) 29 (C) 30 (D) 18
BT : O 50EEBE 12510~ 2550 50—6=44 :
Q@ 44BREFE 1241122 44> 44—4=40 :
® 408FEE1-2-4-5-8-10~20+40:
@ ANEUE 40 BIREN » (B EER 50 BX 44 IR > FTI24EHE 8 AT 20 A :
® a+b=8+20=28

( C )23 IEBRBEFSHNL 1911 FLECEITEE > FIL - KB 80 o » FAITHL=E
80+1911=1991 & » SEEEFH7T 2015 F » BFE NI 1ESD <
(1] TR (IR) FHESRITHORE—I
(2] BEEHFRE 4
(3] &L 20
(4] B3REA 25
(5] BERNEHENLL ]
(6] REB—ELSR > FEBEHEREM (IR) BENI—IETE
RAEM (IR) BR—E=IENEZF  E—{UHFEM (IR) F
HSRIROURE NI B TIRIUEMR (IR) OVERFE !
(A)1715  (B)1615  (C)1515 (D) 1415
AT - DISRISREB I x =
(4x+20)x25+ [ 1=100x+2015 * 100x+500+[__]=100x+2015

500+ 1=2015- [ ]=1515
IMC Bl sisisite. cBEE SUFGREE  HBH/H10H



( A )24. WB » BCEF @F1TUU:E - =BF ABC 2—1@ A
ER=BF 'BCR8LD 'ACRTAD ' EF
O EELL =B ADH BVEEX 12 A0
KHCHRE -
(A5  (B)45AD (C)6»>  (D)5.547D

A
AT : a+b=c+12 » a+b+d=c+d+12 ° F D/éH E
a/ b
BCEF Bf&=BfBAABC+12=8x7-+2+12=40 % /
BCXHC=40 * 8xHC=40 * HC=5 A7 B C

( B )25 R49BBEME—ZMR ' B & ARIEEA - #fizt 37 FREZRZRH
fRE : PFIEE B I0E AT 12E - BEDBESIDRET
LI RHRIEE T
(A) 4 (B)5 (C)6 (D)7
B O URPZ1E=>FB16E:RAI1LE = R23F BIPAEE
QURPZ2E =>BITEARAII0E > R22R AIPAREE
Q URBIIZE > BPI8E RNIIE > 21 F - AIBPREE
@ URPZA4R > P19 RAI8E > FN20R AIPREE
GO URPZ5E = B20E:RI7R = R19R - HIPSE
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— 5188 (BE257)

1. 3EB KA ABCD » 4B =8 BC = 4 » i§lt—R5 o
C—REBNER AC OLBE AR oEERS P
Ay
A
AT RBERIE
L L1=/2R /1= 7 e 2
) 4212 é§j£:@3,(mi8%m$) DI ) PZ/‘>

&RDP=x BICP=8—-x=4P

o

Co(8-x)2=4" 422> x=3

3x4 8x4
. RHRERE = ABCD (4 % 8) — AADP(%)—AABC(%):lO

= 10

2. WEB BETEEROP ANER2ARDER
FESTE AL WS AE = 6 AR - RISERBI B /]X s

%5 BAIBBC=7AR - RETEBOP- P

BT DOP=xXR AP =y RR

S DA B 2 6
ADIIPQ =» —=—= = —-=——
P B X 6+y
. EB CB 2 7
P C X 6+7+y
6x =12+ 2y B ~
{7x=26+2y =x=14 2R
%14 1"R
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